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PART -1/ wrmr-1
foram I
CHILD DEVELOPMENT AND PEDAGOGY / &Tet fasre &
Directions : Answer the folfowing questions oy ; waw FAaT foe T "
Q. Nos. I o 30) By selecting the mosr @w 1330 & v e |
appropriate options, o
e &, Wil ¢
1. Learning is an active process because : = U ahed # ”
{1} leaming takes place when there is (1) AT 7 e & o= el = Fa
some  informalion gh'en to the ﬂﬁq’qﬁﬂﬂrﬁ TFgﬂ l
leamer. ol & =T o
9  Jeaming rofiees S (2) e @ e A I
eaming refers to memorization Fropdber T 1T S |
and an active change in one's wiif ' ,
behaviour. L a7 & w0 5 et T
(3)  knowledge is constructed by the Fosifor ool & |
leamer by acting upon it SffeEnte W #
B e i (4) whET quE ¥ # '
(4)  leaming is governed primarily by P T B
binlopical factors.
2. In the context of students’ readiness to aﬂaﬁ?ﬁﬁrﬂ"ﬁ Farl & HE iﬁ'q'u;
learn it is important for the teacher to : ﬁmﬁiﬁ’ﬂ'ﬂfw% L
{1) pauge the motivation of siudents 1) s & Wi g= & AR w5
o leam. ¢ I
(2} apply ‘Law of Readiness' to the i
students. (2y =W “Hardy =1 T W W
(3) assess the general knowledge of ) et % T T = i w1
students. ; 7
(4) disregard  students” previous (4) =3 ST TS TR
learnings.
WE WA T
3. In an effective elnssroom : .
(1) the students are in competition (1) s s e e & fow e
with one another to score more UL & Ay ufEir S
At 3 ] (2) Frew v= fan w & s =EE
2 the teacher prepares a lesson,
B pr::u:ms it :: p: lecture and :m i G O & e
discourages discussion. BrteHIfET e L
{3) the teacher encourages discussion (3) T ==t = siemfen s ool
and makes connections with the femafirgt 3 -
EllGS 'Q'E‘lftl &
students’ previous knowledge and T ey Tq; e
background. |
(4) the students passively follow the (4)  Temaelt ffsr =y 2t fomes & Frewl
directions of the teacher, U |
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Children  develop  interest in the

clnssroom when :

(1) the teacher [avours only pood
students.

{(2) the tencher cncourages and
appreciates  each  student  to
parlicipate,

(1) they sit in the big classrooms with
their (riends,

(41 they don't get homework.

As children enter the school ;

(I}  they should be told that the school
has a different language and they
should not speak in their mother
tongue at all.

{2)  their parents should be told to use
only the language of the school at
home.

(3)  they should be allowed to speak in
their mother tongue because
expression is important,

(4) they should be fined for not
speaking in the language of the
school.

Which one of the following best

describes a tencher’s role 7

(1) The teacher should focus
primarily on the knowledge piven
in the textbook.

(2) The teacher should maintain her
records diligently.

(3)  The general attitude of the teacher
should be to promote a feeling of
security among the children.

(4) The teacher should encourage
competition among children o
prepare them for social world.

(3)

8}
et v o e et B o
(1) Fenasr dam zreg fywnfadt &7 o9
e |
(2) Frew vl frendt @AM B &
T witrrfiser rerr v HTET ¥
(3) @ wg menet # o fodl W W
T E
(4) % e T e

s o 8 T 1 - o

(1) =% = &0 =i Fe faaem @
W foet & 3 3 ST S |
Fererepre vit =7l e =ia |

(3) 3 sfyara S T e B E
ot W7 “hewT THOTE @ w0 E
FEIET WL |

(3) = et e # e W aEEn
& el wfEw, e st

HETEE A E

(4) Toremerm = e = e & fET S
U7 apEtE T T |

i § & ww s few )

wfiTeT T HE ST AT A € !

(1) o =1 g@1 &0 ¥ TE-qEh o
fer T T O A S ST

(2) T = e el @ TE-TEH
QRpgHE wT a6l | ‘

(3) e T w s we A
qee W O S A 4
it e |

(4) wmtn ghE & fe daw e i
forerer 1 m=d & e 6 S
& =1 |



9.

How cam the teacher promote
problem  solving skills [n  the
students 7

(1} By making use of chalk and hoard
method in her Ir_'i]ing‘

students  with
diverse malerials and encouraging

(2) By providing

them to explore their materials.
(3} By giving them continuous
practice questions and laying
atress on drill only.
{4) By promoting diseipline among
her students.

Children formulate their own
strategies for learning, In this context,

a teacher ;

(1) needs to discard children's
strategies and transact the lesson
she has planned.

{2} needs to understand Ihf.' children's
stratepics and discuss and have a
dialogue with children.

{(3) should give the children a long
lecture asking them not to do so.
(4) should motivate the children to

strictly follow the procedures
listed in the texthook.

Which one of these factors plays a
very important role in learning ?

(1) Genetic make-up alone

(2)  Physical infrastructure

(3)  Social context and emotions

(4) Maturation and physical
appearance
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9.
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e |
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3) =+ Ernrs o W o Hir
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3§ | gmand F fiers w1 ;
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wTE I T g S i |
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W P W 99t Sy Hen e

wEAT W |

(3) W=l @ UHET 7 S o e O
IO S A |
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12.

13,

*Early childhood® refers to the period
from :

(13 2108 years

(2) 61012 years

(3) binhio 5 years

{4} hirthto B years

Knowing about principles of growth

and development is important for a

teacher because &

(1) this knowledge would help the
teacher to sepregate the children.

(2)  the teacher would be able lo create
a pood impression.

(3) this knowledge would help the
teacher to provide the children

with appropriate learning
opportunities.
(4) this would  make, Child

Development a popular course.

A Child’s development is the result of :

(1) upbringing

(2) @& combination of heredity and
environment

(3) heredity

(4) environment

Children :

{1} are bom unruly and need to be
civilized by the society.

(2) are a gift of God meant to be
worshipped.

(3) are influenced by the social and
cultural context they grow up in.

(4) come into this world with a blank
slate.
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T |
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(4) e

Tl

(1) =7 9 SugEe 8 § S I e
BT T T W ATE £l & |
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I7.

A 5 year old child fails to reason that
when water is transferred from n tall
and narrow glass fo o wide container
the quantity of water remains the
same. This Is_hﬂ:mu.t -
(1)} she cannot symbolize,
(2) she cannot imitate.
(3)  she cannot reverse her thinking,
(4}  her behaviour is not goal-directed.
While riding a bicycle a boy prompis
his sister — “Dirive fast | We will reach
there carlier™. He is showing an
understanding of :
(1)  Symbeolic thought
(2)  Egoceniric thinking
(3} Cause and cffect
(4)  Reversible thinking
The process of adjusting, deleting
schemas and forming new schemas fo
maintain equilibrivm is called :
(1) Zone of proximal development
(2) Scaffolding
{3) Adaptation
{4)  Schema formation
The term, “Private Speech™ was first
used by :
(1) Kohlberg
(2) Vygotsky
(3)  Erickson
(4) Piaget
According to Yygotsky, children learn
a lot through their peers.
(1) physical fighting with
(2) imitation of
(3) interaction with
(4) competition with
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19.

20.

21

22

Kohlberg's idea of moral development

las levels.

(1) three

(2) fowr

(3)  two

(4)  eight

Learner-centred approach is one in

which :

(1) lemmers are rewarded and
punished for their responses,

(2) the  teacher  focuses  on
memorizing of facts.

(3}  leamers with the teacher's
guidance are made responsible for
constructing ther own
understanding,

(4) learners are left free to learn on
their own,

Intelligence includes :

(1) the capacity of an individual to
produce novelioriginal answers 0
problems.

(2} the ability to produce a single
response Lo a specific question.

(3} a set of capabilities that allows an
individual to learmn.

(4) a permanent change in behaviour
as a result of experience.

“The importance of communication

with others as a major factor in the
development of a child’s language” is

expressed by :
(1) Bandura
{2) Vygoisky
(3) Kohlberg
(4) Freud

ocdnnea py vamoscanner
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(1) Tt = o wiehmnat & o
T #i fE R A |
(2) St e w5 o O O S0 ST )
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23, If a reacher thinks that girls need to
be given a different tvpe of education
whdch would help them become good
wives amel  mothers, this type of

thinking :
(1} challenges  the social attitude
fowards girls.

{2}  shows thal teachers cannot and
should not try to change the social
perception.

(3) s beneficial to the girls and would
help them to perform their roles
assigned by the society in a better
way.

(4) promotes pender bias and restricts
the potential of the girls,

24.  Assessment should focus on :

(1) increasing competition among
children.

(2} reducing the teacher's work.
(3} furthering learning,
(4) labelling children.

15, Children with special needs should he :

{1} given no cducation at all.

{Z)  given only vocational training.

(3) segregated and put in separate
institutions.

(4) included in ‘regular’ set-ups with
special provisions.

26, To deal with diversity in her
classroom a teacher needs to ;

(1) disregard the social context of the
students.

(2}  judge the students on the basis of
their physical appearance.

(3) be sensitive to the social and
cultural context of the students,

(4} give uniform instructions and
disregard individual differences.

e e - . —
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9.

30.

[ow would you identify a child with

learning disability *
(13 by administering intelligence lests
physical

{2y by their

H:FI'FL'-:!ITI nee

secing

(1) by looking at their note books for
wriling
{(4) by observing how much they fight

with other children

A creative child has the following

characteristic ;

(1} rigid in approach to problem-
solving

121 abilily to role memaorize

(3)  conformity to the given rules and
nomms

{(4)  original thought and expression

Creativity includes the ability to :

{1} copy and imitate others.

(2) do divergent thinking.

{3) rote memorize long passages and
sequences of numbers,

{(4)  do convergent thinking.

When a child's capability in any
particular area of development is low,

it:

(1) does not influence her owverall
development.

{2) does not mean delay in any area
of development.

{3) has an impact on all areas of
development.

{4)  has no effeet on the child.

Scanned by CamScanner

(%)

8

9.

30.

sfirm e awt T & TS 6
T

() e it w1
(2) T i e R |
(3) T ferad o g S |
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e |
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PART-11/ 9T =11

(1

1€ neatnunin

X

MATHEMATICS / TR
frtar « Ty I A g Pty

Direction : Answer the fillowing guestions by

sefee g e corvectdmag SPENCURRIEE ) affennin

It is often found that learners af
primary level experience difffeulty in
comprehending word problems. This
problem ean be best addressed by :

31,

(1} introducing word prohlems  in
mother tongue as well

(2)  giving a lot of word problems for
practice.

{3)  eliminating word problems from

the primary

Curriculum,.

Mathematics

(4) asking learmers to look inio

dictionary for meanings.

32. A teacher of Class IIl gives the
following word problem on
“subtraction™ to the class :

“A crate can have 50 bottles. 20 bottles
are already in it. How many more
bottles can be put into the crate 27
This type of word problem belongs to
which onc of the following categories ?

{1) Comparison

{2} Complementary addition
(3) Partition

(4) Reduction

32.

R
3 mﬁﬁmwrﬁﬂﬁﬂ?mﬁ

mﬁ,ﬁ,gﬁqﬁﬁﬁlﬁﬁﬁﬁl

' prei T W H B |

o7 111 3 SToATTS A HEl HY SEHEA 9
forey o wye T -

ey w50 WE AT Fehel! § | I
ws @ # 20 A E | 59 I | e
A i e A & 7

TH W T TS Wy FefarEd | |
FiHl Sl d Hatee € 7

(1) e

(2) 9T = TE

(3) feemA

(4) =g

SPACE FOR ROUGH WORK / T% % % (o1 w7ig
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33

3.

While working on (ractions, a student

of class V. does the question a3 follows

.

tei | wa

1
]

m_.l_,.

As a rteacher, of the

which one
following strategies would be most

appropriate to Tollow

(1) explain the emor by using a

fraction kit or paper folding

(Y ask the student to do the same
question 10 times so thay he'she

will not repear the mistake

(3 tell the algorithm for subtraction

of fractions

(4)  give more questions for practice
Which one of the following is the best

resource to compare the areas of two

leaves in Class v 7

(1) Geo board
(2) Graph paper
(3) Scale

(4) Thread

(tn

LE

S

1]
wan v % v Pard) = B e uem

et s v o -

£

s | b

e g A sk e Prefaiem
w3l gty wafes sy e 2

(1 Foer o ez s wled o) siean

& T W) w

L Fremedt ) 36 wem Bt 10 O & &
for wey, bred fe =g ke &

T A

M e ¥ sEwew W el
aiiea e ol
(4 anam o e g T W T A

wan v § 3 ufmet & sEwe w5t e

w0 % for Freffiae o @ wi9w wnE
el I

{1y Femtatd

() A (T T

IR =)

(4

SPACE FOR ROUGH WORK / T % ¥ TeTq 57T
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36.

Which one of the following is an
important aspect of mcasurcment of

lengih

(1)

Usimng nom-standard mensures

2] lterstion

(3)  Conservation of lengih

(4)  Ability 1o use scale

It has been found that *Games’ help in
understanding mathematical concepis

at primary level, as *Games” :

(1)  break monotony in the class,

{2)  help in class management,

(3) provide fun to the children.

{(4) opportunity  for

provide an

extension of concepts.

{12}

LN

36.

1SS

ey vy & o et O T
st wt W o e W g
T i, = -

(1) = i i ®t i w

(2) T WA W e e |

(3) === AR ITere O

) wEerme & vaww W= s
T T ¥ |

SPACE FOR ROUGH WORK / % %4 % fe1a wrg
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37. A pood Mathematies textbook at 37. Wl wWr o uwr MW @ arEd
primary level should : R
(1Y have a lot of cxercises for (=@ ity e & fewg et
practice, wifie |
{2}  have colourful illusteati 2 ﬁqﬁiﬁﬂmﬁ :
2 eolourful illustrations. P g
(3) present a lot of worked oul T v b
examples. () W= = i e R iwE
{(4) relate Mathematical concepls to i Ifi e e
everyday life of the child. 1
38. A 7 year old boy recognises all four 38. WTﬂ?ﬂﬂHﬁT'ﬂﬂﬂfﬂﬁmﬁﬁ :
sided regular figures as squarecs. iﬂéﬁﬁ?ﬂ' Wt % g ° T T
According to Van Hiele's, he is at & it & arqaw, T ST W w
which stage of Geometrical thinking 7 o e i
(1) Level 4-Deduction (1) W 4-Fm
(2) Level 3-informal deduction (2) - R
(3) & 2-faEmEm

(3) Level 2-Analysis

& N E L
(4) Level 1-Visualization (4) FW|-AAEE

30,y ®i srawon & o few /e

39, The concept of ‘zero’ can be

introduced best through which one of g A R asm §?
the following operations 7 1y TH
(1)  Muitiplication @ 7
(2) Division o
(3) Addition
(4) =EETA

(4) Subtraction

SPACE FOR ROUGH WORK / T T4 o fiq =i
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40.  Which one of the following is net part b2 oy v TEL 7
of Aathematics curriculum  at e | '
primary stage ¥
0 -ﬂ'ﬂlﬁlﬁ‘f
(1) Symmetry
ggAaa
(2) Decimals @
(3)  Data handling (3)
(4)  Ratio and Proportion (y v HCE

B ml'&faﬁﬁﬁﬂﬁmm | )

41. Which one of the following is most
' s =3 & Tau Frafafes
appropriate  to  assess children's R
understanding  of  Mathematical ﬁﬁ“’h‘mﬁmi?
concepts in E_Zlnssl 7
(1) @i
(1) Observation
(2) Tl gdbem
(2)  Written tests
(3) Oral test (3)
(4) wHwEE

{4) Work sheets

SPACE FOR ROUGH WORK / 7% %14 & T1w oTe
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I*-1 {15} ki

C PP O - 1 {7 R ' 42, ufg 100 2 0m - e - 7 -
then the momber whicl eomes I the ¥, o1 Frower war ) 5w wrel
Blank space i pis:

iy 127

(ny 127
. 2y 12%

(2] 120
( 12)

12
f4) 123

() 123

43, T {the place value of 6 in 16470) = {the 43, TR (10470 5 6 it Ar) - (1605 F

place value of & in 7605) = 6 ¥ .

6 T T AT = 6 > 7, @t fem

then the number which comes in blank

space is : bl L £
(1) &oo (1) 800

{2) 90N (2) 900

(3) 600 {3} 600

(4) 706 4y 700

SPACE FOR ROUGH WORK / T% #Td % fera s
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44.

45.

If the sum of common positive factors of
56 and 84 = 400 - 43 ¥ , then the

number which comes in blank space is :

{1y &

(2) 8

[

(3)

4) 3

If the sum of remainders, obtained on
dividing 32456 by 24 and 46951 by B3,
is divided by 16, then the remainder

will be ;

i) 4

(2) B

(3) 0

(4) 1

45.

2 8
(3) 2

@ 3

afr 32456 1 24 B I TTTET 4695
1 §3 & T A T W I & ATt
16 T W &g A, At TR B

m 4
(2) 8
(3) 0

) 1

SPACE FOR ROUGH WORK / Y% %4 % forg s
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| amn ¥
db.  (The smallest common multiple of 16,

46, (16, 24 3 36 T T T WETE) -
(16, 24 aftr 36 T TEH TH A EEE)

24 and 36) + (the largest common
factor of 16, 24 and 36) is equal to :

TETE
1) 36
lﬁ o (3
2 (27 48
{3} 16 (&) 16
(€4 24 4 24

47, :Hnﬂ;qmﬂﬂﬁﬂ e T 1

47. Nishu has six and a hall dozen

: 1
chocolates, She gave — of these to
&

1 g e o, T 115 T TR

[
R 1 Wik and ‘nﬁ‘ra‘tﬁmmmmﬂﬁﬁ‘aﬁi’
avi, = of these to Rahul and one X

13 T fer | s v v ORI W W

half of these to her other friends. The
. E (ny 21

number of chocolates left with her 18
(1y 27 2y 3
(23 -32 (31 20
(3) 20 (4) 26
(4) 26

48. s TR LIS TR TR =

48, 1f150nes + 15 thousands + tens

— 16165, then the number in the blank 16165 %, A AR

space is 1) 65

m, e 2y 115

(i 13 o s

- - )

" SPACE FOR ROUGH WORK /T EAGLER
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49. A drum contains 174 litres and -0

50,

millilitres of oil. This ofl is fillcd inte
37 containers each of equal size. How

much is the oil in 18 such containers 7

(1) 99,5 litres
(2y 995 [itreg
{3y 963 lires
(41 9.1 litres

3
On a map, a length of % eentimetre

(18)
44

50,

mmﬂlunln

- 4
Wﬂi’ 4{"}%

#ﬁu;ﬂﬂaﬁﬁﬁm*nﬁ
oA | 18 FA A T

s ?
(1) 995
(2 gy, 8 T

(3 963 FET

gg,1 fe=t

3 =+ wa,
ﬁ;‘-ﬂ’tmﬂﬁﬁﬂi“iﬁﬁﬁﬂ g, i

represenis a distance of 240 km on the a7 240 ﬁ?ﬁﬁtﬂﬂﬂﬁ {'ﬂ =t Tt =
sround. What length on the map will ¥ 1 afy i T s R 1120 Fewider =i
represent @ distance of two cities {ﬂ o e, H’F‘ﬂﬂ"ﬂﬁﬁﬁfﬂﬂﬂﬁ {a
which are 1120 km apart on the w7
eround ?
(1} 6¥deT
(1) 6 centimetres
(2) 7 Tty
(2} B centimetres
(3) Threeand a half centimetres (3) e i ey
(4)  Fourand a half centimetres (4) TRER HamdeT
SPACE FOR ROUGH
£ WORK ) T% %4 & oy s
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p-I (19)
51.  Which one of the following is not s1. i@ wmam e g v
correct 7
_ (1} wa wm we REenum R U S
(1 One gram is one-hundredth of one B
ki]ﬂb‘]‘dm.
A . i i izt oy
(=) One millimetre is one-tenth of one (2) s faedvier o o
cenmimerre, L6
(3} One lakh is equal to & hundred (1) T N T U A
thonaand, )
7 (4) U S e ST O A
(41 One hundredth of a crore is equal oo
1o one lakh,

51,  The internal length and breadth of o 2. Hmﬂ:\ﬂfﬁﬁ AT mli T
cuboidal store are 16 m and 13 m ~iteTs o mthaa‘\ﬂa Hizy § T
respectively and its height is 11 m. Eﬂiﬁﬁﬁﬂé‘ll Wer ¥ | T R ST
There is another cubical store whose =Rt freedl =il . i A ; -
internal length, breadth and height :

S v 8 e & | i e e
are 8 m each. How many total cubical - LR o =
boxes each of side one metre can be kL foret e f o Tt =
placed in these two stores to a height 7 Wi S v T W G
of 7 metres 7

(1y 2288
{1y 2288
(2) 2800
{2y 2800
(3y 1904
(3 1904
4) 1968
(41 1968 (

SPACE FOR ROUGH WORK / T% T4 % Tl @Tg
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I-q
g ) AW 27y
u (20) - § o
53. There are two picces of wire each of 53. ﬁﬁ ﬁaﬁmmt
length 272 em. Using one picce, a it ¥ | g . o T
sguare is formed and using the other T '{ﬂi‘ﬁ .
: . ' 1 =g ¥ 18 9
piece, o rectangle is formed. I the side o ST
of the square is 18 em mere than the EeEE! sfer (@ )
siferes ¥, A L
width of the rectangle, then the
difference in their areas (in sqnare )
em)is : ['” 254
(ly 254
272
(2) 272 @
3 224, (3) 224
(4) 324 (4 324
MHFTTEAE?
54. Which one of the lollowing is true 7 54. ﬁﬁﬁ#ﬂﬁq w
(1) .Thr: nu;‘nhﬂl‘]ﬂfs:ﬁ:n;;s i: ﬁllmurﬁ 6 3 # @S W gE 12 i
s equal to the number of minutes
_I e P ! T o EET B |
in 12 days.
(2)  The number of minutes in 15 days @ 15 & firef = wEm g ue #
is equal to the number of scconds )
: HehEl = G F A |
in 8 hours.
(3) The number of minutes in 10 days 3) 10 ReF & Pt 9 g 6 et
is equal to the number of seconds . )
, | - WS e F A |
in & days.
(4)  The number of seconds in 2 hours @) 2 6% F e o g 5 B A
i5 equal to the number of minutes .
2o frrel it s S e |
in 5 days.
SPACE FOR ROUGH WORK / 7% W % fou s

Scanned by CamScanner



1SS

Pl '
(21}
55. When fresh fish is dried it loses 55, W& N Wl W) e ww b ?ﬁu
:“’“"hirds OF its weight. Reshma buys T B1-Fad W me g wmEn & L e
;63- kg of fresh fish at the rate of i R el e nf e il
25 per kﬂ- ahe selly ““31'“.l wihen ,F E % e . ﬁ't o
ll.l"tfd-p at ﬂ l“ﬂ.ﬁ per Eg_ She CAFTES B .
T 108.5 uf fem & =0 § | T W
profit of :
I B
(1) ¥ 34828
(1} ¥ 34528
{2} T45582
(2) T45582
4
o N 3y T101115
(8 FerEss (4) T10753.5
56. John travelled a distance by a train 56, WA T gttt aw 60 el s
for one hour 20 minutes at the speed et W = ¥ T g 20 e d wa o,
of 60 km per hour, then by a bus for qﬁ'{-ﬁm g 50 Tkt wfer w2 Bk
54 minutes at the speed of 50 km per 2 54 T v e gt e w15 TRl
hour and then by a boat for one hour iy sz ) ST O T 36 R i
36 minutes at the speed of 15 km per A 13@1&13‘:#\@{&& :
hour. Total distance travelied by him
(1y 149 Tl
Was :
(1) 149 km (2) 154F
(3) 104 km @ 125
(4) 125km

SPACE FOR ROUGH WORK [T T o T A
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87 A tencher B oengaping leariers i
tapie, *Mumbers® fnoclass LOWhich ane
af e Tollowing is most approjriale

apippraaehi b D Fallosvedd ey

teneher ¥

{1y Wumerals ahould be ipiodueed

Tz Foare el g,

(2)  lLesmers  shoald G

sriting nuimerals.

{3)  Mumernls should be  jnirsduced

along with number names,

{4y Numerals should be introduced

cmly  afler  (he  learners

experience with counting,

58. Which onc of the following is an

aspect of “number sense™ 7

(1)  Skip counting

(2}  One-to-ane correspondence
{3)  Writing numerals

{(4) Senation

prneline

1)

57.

SH.

n;muﬂﬂ'T’

S

P
U @ freedlra Wy

& ey b 1 T

vetugr e 1 W
4 @ fiEE INOTH W

o 1mrr
i papd T T L
st W

Cll LA

¢ e firaa

2 frpearter
pegqret s A |

(3) I — R R
Firay rr =t |

(4y s w A Pt Fran e e,

<rr Pt =t O W AT B

TR |

Freffafas @ F BEAT “HEE G w®)

Lk

(1) BIEBIE F TOET T4
{2) R HH

(3) == e

(4) e

SPACE FOR ROUGH WORK | T% &4 & far wre
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P-1 ] (23)
§9,  Which one of the following is mosi x 1 E
59, HETIVETHIS 1+ — = 2 WO
suitable o explyin *1 « -I- = 1* fo §
2 fomr for=afafiae o o w wios sogEa
studdents of clnsg [y o &
l:'
(I} Using beads an strings
(1) el i Tt = w2
{2} Using a peoboard
(2 vt = et W
(3)  Using paper folding
(3) T A 'R |
{4)  Explaining algorithm
(4) HEE-EN TEEE |

60, W 11 W uw el 203 ® dEa
¥ U wWamm ¥A OH W W9
Pt & & S framwem w6,
TR FR o el T s g T ?

60. A Class 1l student reads 203 as twenty
three. As a teacher, which one of the
following activities would you do so

that the student realises her error ¥

e i e ¥ e |

(1) Writing Numbers in Numeral . {n

e (2) o g fgE ST S S
(2)  Drill and practise worksheets o ARG
(3) Usingll:reau:[s and strings o bl

(4) Reading Number Chart
SPACE FOR ROUGH WORK / 7% %M % o we
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PART — [T - 1t

ENVIRONMENTAL STUDIES / !
Frdey - st afw T
@ g el |

Diveerfons ¢ Ansver the filfening guestions e

sefpofine Gle RS el T e OpaTs.

fil. Read the following question carefully
How are the monkeys that dance (o
entertain  peaple, different from (he

mankevs that are free §
What is being asscssed through this

item

(17  Experimentation
(2} Co-operation
(3}  Observation

(4) Discussion

62. A teacher, maintains record of a child’s
progress on a day-to-day basis and also
keeps  the observational narrative
records of significant incidents in his
life. The above activity is used as a/an :
{1}  Rating scale
{(2) Checklist
(3) TPonfolio
fd}  Anecdotal record

Which one of the following questions on
‘birds and their beaks' would best give
the child an opportunity to argue and
analyse ?
(1) Why do birds have differently
shaped beaks 7
(2)  Name a bird and describe its beak
and explain how the shape of its
beak is related to its food habit,

(3)  The beak of a bird is long, straight
and pointed with sharp edges.
What kind of food would it eat ?

{4)  Describe the beak of a parrot,

63.

Scanned by CamScanner
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6.

-1

ared—

ﬁﬂﬁ#m .
fort TR AT # 7
2+ T ATEE TRET

Poperferfir 59
St T
sqraAT aati @

e fomerer it wedt & Wree = W
=1 =T TEe £ T T Sl | ulem
TEvmyul HEATHT W AUAS A |
e e & | s T v IaE
g :

(1y e Frabror gt & fer

(2) i e & fee

(3) uidwifeg % foo

(4) SIS STeEE % o

wEl A T W w amaf|

Fefrfrm dd s e =it

37 3 feryerae = = averme W

wigfe g wdse i o .

(1) et 2ft e 3 o & e st
Bt & 7

(2) v i & A fefan, swe) g @
T T 3t T W R ga
T T T @ ) e
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a2

il;l
aeds

5.

b,

(25)
T, i
A class tencher provides her students

with » Neem leaf amd o Mango leaf and
an

asks them to state in whick way the
are similar to and different from, p_m:h
other. Which one of the Tollowing
process skills will be used jp answering
this question 7

{17 Hypothesizing

(2} Predicting

(3} Observing

(4) Measuring

Mecta always asks her students some
open-ended questions in an EVS class.
Her main objective could be developing
students” :

(1)  convergent thinking.

(2) listening skills.
{3) creative thinking.
(4) speaking skills.

The present syllabus of Environmental

Studies is woven around some

common themes. Which one of the

following is not included in the list of

u
64, TV 2 fft st fradt wt
<51 iferdt st ayrey w8 el e TR
& e 3% e et i forg el £
fr arfts & e § i few wleR W
e it & 1 g e o o AR
e § @ W T B
SRR I T
(1) e
(@) PR
(3)  EwE
(4 W

it TR T S = W W
st vl & vyt ster TR O
] iM?ﬁﬂiﬁﬁm%’W
# i )

(1) e e

(2) G e

(3) e e
(4) et HEH] B

5.

66.

T

(1)

(2)
(3)
(4)

Lo
EIE
e
e G

themes ?

(1) Water
(2) Air

(3) Food
{4) Shelter

Scanned by CamScanner
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67,

B8.

69,

Which one of the following statenienis on
EVS is in siccordance with NCF-2H5 ¢
(1) EVS 1o be tught as EVS
(Science}) and  EVS  (Social
Science) inelasses [ o W
(2) EVS o be tausht as EVS
(Science)  and EWVS  {Social
Science) m classes | and I but as
a composile area of study in
classes 11l to ¥
(3) EVS o be tavght as a composile
ares of study inclisses | 1p WV
(4) EVS 1o be taught as a composite
arca of stndy in classes | and 11 but
as EVS (Science) and EVS (Social
Science) in classes Ul o V
A teacher organizes a group discussion on
the topic, “Saving Water™ in class V. The
purpose of organizing this discussion is :
(A) to give an opportunity to all
students fo speak.
(B) todevelop multiple perspectives.
(C) to manage the class-room
cffectively.
(D) tojudge the students.
Which one of the following is correct ?
(1) {A)only
2y (A)and (D)
(3) (C)and (D) only
(4)  (A)&(B)
*Observation’ and ‘Recording’
are indicators of assessment. Which
one of the following is the least

appropriate way for assessment of

these skills 7

(1} organizing a
community.

(2) conducting a paper-pencil test.

(3) conducting activities in class-room

(4) planning field visit to a nearby park.

survey of the

ocannea by Lamoscanner
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67,

6.

69,

STt AT
210005 3 srEI E 7

: Y e W R 1RV H
(1) SR o

) e s o S E R

oty rere = w1 ANA

e wmmﬁ#%mﬁﬁﬁw
e 1M ',ﬁ‘ W ﬁ ‘T!ﬁﬂTDT HEETH
1) 2T AT FE (FEi
Fgrren) @ &9 # wgr A |
- iy ST -\ T TR HOWOT O W
Eﬁmm%lﬁmﬁﬂ
Yt ST T BT IS
(A) it Traniiat & S W T
wET HE |

(B) =g-ufiieg &1 e w5 o

(C) Ty At § RN AT |
(D) Toenfeat = st |
reaffer g T T 7

(1) =6 (A)

() (A) T (D)

(3)  EEE () 7 (D)

(4)  (A) T (B)

‘e w cufwee (Rt
WA & HEew ¢ | fatetEs § 9
HEHT TR T AT w4 % A
HEH TH IO 7

(1) TIEM & TEROT ST 0 |

(2) e T st s o
(3) e o niatahE 1 9w |

(4) o % ok F &S5 wnur # g

1T |

=



T

1L

A class V teacher and her students each
grew a rajma plant in their respective
plots. Every two days they checked its
length and noted i, After 3 weehks, all of
them depicted their resulis through
graphs, The

process  skills  being
emphasised in this tasks are -
(1) Hypothesising and Inferring

(2)
(3)
(4)

Predicting and Inferring
Caleulating and Predicting

Measuring and Communicating

Which one of the following will be
effective for transacting the concept in
class 57

“Some materials float and others sink
in water,”

{1}  Through observation and
discussion

{2) Through observation, experimentation
andl inferencing.

(3} Through survey

{4)  Through observation

Which one of the following cannot be
an indicator for assessment of EVS at

Primary Level ?

(1)  Analysis

(2) Co-operation

{3) Concem [or justice
(4) Retention

Scanned by CamScanner
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(4)
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u
23, Which one of the Following is most

important for a mountaineer to carry ¥

(1} Sleeping bag
(2)  Oxyeen kit
(3) Blankel
{4) Tarch

74. Which one of the following States /

Union Territories has a coast on the

Bay of Bengal ?

{1y Goa

{2) Cujarat

(3) Puducherry

Kerala

(4}

75.  An example of a plant / tree whose
seeds travel from one place to another

by water is :

(1) wheat

(2) dates
(3) apple
(4) coconut
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78.

Pl
0. Which sne of the following stafcments

is truc about Sunccta Williams 7

gecond  woman

Shie iz the

(1)
astronaut of Indian origin.

(2) She is the second astromaul of
Indian origin.

(3)  She is the first woman astronaul.

{4)  She is the first woman astronaut

of Indian origin,

‘Kabwa' is a special type of tea/
beverage. It is popuolar in :
{1) Kashmir
{2y  Karataka
(3) Assam
{(4) West Bengal
In an area villagers make their

houses having very thick walls that
are plastered with mud. The roofs
of the houses are made of thorny
bushes. In this area rain is very scarce
and it is very hot too. This area must be

in:

(1) Jharkhand
(2)  Rajasthan
(3)  Uttar Pradesh
(4)  Bihar
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.

Sweet potate is a root beeause :
(A) itis brown in colour,

(B) it grows wunder the soil/
underpround.

{C) it has fibre like structures to
absorb water and minerals,

(¥ it stores food.

Which one of the following is correct ?
(13 (B)and (C)

(2) {C)only

() (B)and (D)

(4} (A)and (B)

Every bechive has one queen bee, a
few male bees and many worker bees.
Which of the following statement/
statements is'arc true ?

(i) Worker bees fly around in search
of nectar.

{(if) Male bees de not have any work
to do,

{iif) The queen bee lays egps.

(ivl Worker bees are female only.
(1) (i), (i) and (iii)

(2) (@), (i), (iii} and (iv)

(3) D“].'l." (i)

(4) (i) and (i)

In which one of the following states is
Taploca grown ?

(1) Meghalaya

(2)  Punjab
(3)  Assam
(4} Kerala

T — .
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p-1
. wWhich one of the following can find jts

female partner many kilometres away
just I her somell ?

(1) Silk-worm
@ Tger
(3 Vulture

(47 Hawk

g3, Rashid took out his pair of spectacles

and blew two-three times on it. The

alass of the spectacles became hazy, The

reason could be g

(1Y Water from his mouth formed a
film on the glass of his speciacies,

(2) The hot air from his mouth

evapornled o form a water ilm

on the plass of his spectocles.

(33 The hot air from lis mouth
condensed 1o form tiny droplets

on the glass of his spectacles.

(4) The cold air from his mouth
condensed to form tiny droplets
on the glass of his spectacles.

84. The neighbouring states of Gujarat are

(1) Madhya Pradesh, Rajasthan and
Uittar Pradesh

{2) Maharashira, Rajasthan and
Chhattisgarh

(3) Bihar, Rajasthan and Madhya
Pradesh

(4) Rajasthan, Madhya Pradesh and
Maharashtra
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u
85. *Madhubani’ is o traditional art form
miamed after a village in the state of *
(1}  Mabamshtm
(2)  West Bengal
(3] COrisaa
(4]  Bihar
86. Which one of the following is a correct
Statement ¥
(1)  Malaria is caused when a female
mosquite  which has  bitten a
malaria patient, bites  another
person.
{2)  Malaria is caused by a Mosquito
bite at night time,
(3)  Malaria is caused by a mosquito

87.

bite.
(4) Malaria is caused by a female

mosquito bite.

Rina stays in Dethi. She wants to visit
her aunt in Gwalior. In which direction

should she travel 7

(1} East

(2)  West
{3) South
(4) North
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o0.

which one of the following is the least

appropriate objective of Environmental

Studies ?

{1y to  develop awareness of
environmental issues.

(1) o ereale curiosity about socio-
cultural environment

{3} to provide maximum opporiunity
to a child for acquiring skills of
recall and memorization.

{4y to create cognitive capacity in

learmers,

Stories and narratives are used in EVS
textbooks becanse @

(A)
(B)

thev sensitise children.

children can probably empathise
with characters.

(C) it is the easiest way to learn EVS.

(D) they are free from gender and

cultural bias.
Which one of the following is correct ?

(1Y (D)only
{2y (C)and{A)
(3)  (A)and (B)
{4) (B)only

Which one of the following statcments
about assessment procedures is least

approprinte ?

(1)  Self-assessment helps children
understand  the  basis of
assessmenl.

{2) Students can be  assessed
individually or in groups.

(3) Assessmenl is not meant lo
compare and rank children.

(4)  Assessmenl should be carried out

at the end of a term.
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PART -1V
LANGUAGE -1
ENGLISH

P-1

IMPORTANT : Candidates should atiem pt questions from Part — 1V (Q. No.9 1-120),
if they have opted ENGLISH as LANGUAGE — 1 only.

Directions :  Read the passage given below
and answer the questions that [ollow
(Q. Nos. 91-99) by selecting the most
appropriate oplions

1. June came and the hay was alimiost
reitdy for cutting. On Midsummer's Eve,
which wes a Saturday, Mr. Jones went
into Willington and pot so drunk at the 3.
Red Lion that be did not come back (il
midday on Sunday. The men had milked
the cows early in the moming and then
had pone out rabbitimg,  without
bothering to feed the animals, When M.
Jones got back he immediately went to
sleep on the drawing-room sofa witly the
News of the World over his face, so that
when evening came the animals were
still unfed. At last they could stand it no
longer. One of the cows broke in the
door of the store-shed with her hom and
all the animals began to help themselves
from the bins.

2. It was just then that Mr. Jones
woke up. The next moment he and his
four men were in the store-shed with
whips in their hands, lashing out in all
directions, This was more than the
hungry animals could bear. With one

accord, though nothing of the kind had 92,
been planned before, they flung '

themselves wupon their tormentors,
Jones and his men suddenly found
themselves being butted and kicked from
all sides. The situation was quite out of
their control. They had never seen
animals behave like this before, and
this sudden wuprising of creatures
frichtened them out of their wits.

1.

They gave up ftrying 10 defend
themselves and took to their heels. Soon
all five of them were in full Dight down
the can-track that led to the main road
with the animals pursuing them in
irimph,

Mrs. Jones looked owt of the
bedroom  window, saw  what was
happening, hurredly flung o  few
possessions into a coarpet bag, and
slipped oul of the farm by another way.
Meanwhile the snimals had chased Jones
and hiz men oul imto. the road and
stammed the five-barred gate behind
them. So, almost before they knew what
was happening, Jones was expelled and
the Manor farm was theirs.

“T'he men had milked the cows.”

‘Tense’ in the above sentence has been

correctly  changed into  ‘present

perfect” in ;

(1) The men are milking the cows.

(2}  The men will have milked the
COWS,

(3)  The men milked the cows.

{(4)  The men have milked the cows,

In which one of the following
sentences has the ‘question tag® been

correctly used ?

(I)  They gave up trying 1o defend
themselves, couldn't they 7

{2) 'They gave up trying to defend
themselves, didn't they 7

(3)  They gave up Irying to defend
themselves, haven™ they 7

(4)  They pave up trying to defend
themselves, aren’t they 7
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&r; The word “flung” means the same ag ¢
(1l covered
{3 atacked
(3) threw
{4y it

g4, Jones’ men didn’t bother to feed the

animals because :

the door of the store-

animals :
(1) began kicking Jones® mef.
(2) started damaging things.

| (3) ranout of the shed.

(4) started eating

bins.

|
Scanned by CamScanner

(1 their master  had mone Ao
Willington.

(2) each thought the other would feed
themn.

(3) they were angry with their master.

(4) they just forgol 1o do the job
assigned to them.

95, After one of the cows had broken in

shed, the hungry

the fodder in the

(35)

U
When Jones and his men started
jashing out at the animals, they (the

animals)
{1}  staried bellowing agonisingly.
started kicking and bunting their

lormeniors.

{2
(3} fek termrificd.

(4) ranoul of the farm house.

For the readers the scene deseribed in

Para-2 is highly :

a7.

(1) comic

(2) intriguing
(3) pathetic
() outrageons

gg, ‘The fierce aftack launched by the

animals shows that

animals are thinking beings.

(1
(2)

(3) anger i< o destructive emotion.

injustice leads 1o rebellion.

animal behaviour is unpredictable.

(4)

99, The wordiwords which is/are similar

in meaning to ‘imm ediately’ isiare

(1) slowly
(2) usually
(3) atonce
(4) tardily




L
DMrections @
and answer the guestions that follow

(0. Nos. 100-105) by selecting the most
appropriate oplions

Read the extraet given below

Hail to thee. blithe Spirit !
Rird thou never wert,

That from heaven or near it,
poured thy full heart

In profuse strins of unpremeditated an,

Higher still and higher

From the earth thou springest
Like a cloud of fire ;

The deep blue thou wingest,

And singing still dost soar, and soaning
ever singest.

oo,
(1} loftiness
(2} jerky motion
{3}  slow motion .
i4) speed

101. The figure of specch used in lines 8-9

is :
P
(2}

a synecdoche
alliteration
(3} asmile

(4)

a metaphor
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The bhirds” fight is distinguished by its

(36)
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g in Al

102, The literary device us :
ost soar, and soarng

singing stiil d
ever singest.” i8
(1) =a metaphor
{2y asimile

(3)  alliteration

(4} o metonymy

103, The poet calls the bird a ‘plithe spirit’
because :
(1) itisabirdof paradise,
{2) it is the most beautiful bird.
(3) it soars higher and higher in the sky.

{4) it represents a cheerful spirit.

104. The bird’s song seems to come from :
(1} nearthe seas
{2) heaven
(3} atree

(4} amountain peak

105. The expression ‘unpremeditated ari’
means art which is ¢

(1) natural
(2)  heavenly
(3)  effortless

(4)  spontaneous
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pirections :  Answer the followi
by selecting
oplions |

T NE questinng
Ot appropriate

) s e o

learning to write the letters of English
alphaber 7

(1} Stant with a, b, ¢, d {lower case)

(2) Start with slanting and standing

lines and then move o eurves

{3)  Startwith A, B,C.D (upper case)

(4)  Start with strokes

107. A child at school pronounces the word
‘polish’ as ‘polis”. Which one of
following is the most likely reason for
this ?

{1}  The child belongs to a rural area.

(2) The child does not know how to
distinguish between the /sh/ and
{5/ sounds.

(3) The child has a stammering

problem.

(4) Thechild speaks in a dialect,

{08, Which one of the following is most

important in learning a language i
(1) Language rich environment
(2) Language class in a school

(3) Texthook

(4) Language lab
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109. Which one of the flollowing is troe

110.

regarding Innpuage learning 7

(1) Language skills should be learmt
as per the language level of
stiudents.

(2) Language skills hinder language
lesrming.

{3) Language skills are interrelated
with one another.

(4) Language  skills are nob
interrelated with one another.

While teaching in an inclusive
classroom, a language teacher
should :

(1) support them in the leamning
process  keeping in mind  the
flexible curriculum.

(2) ask talented students 10 handle
them.

(3) ignore students with special
needs.

{4) recommend to the Principal to
place them in special schools.

111. Which one of the following is least

important in using mother tongue as

the medium of instruction in school at

primary level ?

(1) Mother tongue yields betier
learning oulcomes.

(2) Transition from mother tongue lo
school language can't be ensured.

(3) Mother tongue will facilitate
better classroom transaction.

{4) Mother tongue Ensures preater
participation of learners,



U
112. Which one of the following methods

does_not promote the wse of mother
tongue while teaching English 7

(1) Awndio Lingual method

{Z)  Communicative Language Teaching
(CLT) method

{3) Grammar Translation method

(4]  Direct method

113. Communicative Competence is the
allity to :
(1) use language i different situations,

(2} use good pronunciation,
(3)  use language fluently,
(4)  use grammatically correct English.

114. Phonological awareness refers to the
ability (o :
{1}  write coherently.
{2)  grasp the sound structure,
(3)  speak fluently and aceurately.
(4) master the rules of grammar.

115, Phonemes are units of :
(1)  sounds of a language
(2)  vowels in a language
(3) alphabet of a Janguage
(4)  pgrammar of a language

&

116, Mr. Srinivasan’s child is two-vears
old. She scribbles on the wall and
attempts to draw. What can this
activity be called ?

(1) Literacy

(2) Emergent literacy

(3)  Free writing

(4}  Thinking to develop writing
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117. Listening fo S
helps in developing

(1)

(2)

{3}
{4)

118. Seclf-assessment b

(1)
(2)
(3)

(4)

-]
tories Trom children
their skill of

speaking. |
identifving the moral message in
the story.

imaginalion and expression.

using idioms anc metaphors.

y learners helps :

them in laying the foundation of g
future teachet:
understanding  their

them in
achievemenl.
them in accepling @ lot af

remedial practice.
tegchers to pel some space lo

engage  themselves in other

academic tasks.

119, English textbook at primary level
should most importantly focus on :

(1)

(2)

(3)

(4)

age and interest of the leamers
and objective of the language.

the strong and proper binding of
book.

allractive  cover page and
illustrations.

grammatical forms.

120. A teacher is teaching grammar to the
class. She cxplains the rules and

definitions and then gives examples.

What is she practising ?
(1) Immersion method
(2)  Incidental method
(3)  Inductive methad

(4)  Deductive method
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PART -V
LANGUAGE - 11
ENGLISH
IMPORTANT : Candidates should attempt questions from Part — V (Q. Ne. 121-150),
if they have opted ENGLISH as LANGUAGE — 11 only.
Directions :  Read the passiage given helow consistently happy. Why 7 Envy takes your
and answer the questions that follow eyes off what you have and focuses your

(L. Nos. 121-128) by selecting the most

attention on what you don 't have. It reflects an
.'pP I'ﬂp-i‘iuh.' {I-piiﬂng k

atitude of arrogance and cntitlement. When

ou ' is and ultimatel

. o i : .
be happy.” We've all had such thoughts. When R TN AR

I lived in an apatment and had li}e money, [ The sceds of envy reside in everyone's
envied families who had a house and more heart and mind. They need to be dealt with
money than [ When I bought my first house, | daily. Martin Luther once said, “You can’t stop
envied people who had bipper and nicer a bird from landing on your head, but you can
houses. When 1 drove a 1961 Studchaker, 1 stop him from building a nest on L™ We

envied those who drove newer and nicer cars. cannot prevent envious thoughts from entering

When 1 was unhappy in my marriage, | envied our hearts, but we can keep them from taking

friends who had happy marriages. It seemed roof. And the amtidote is gratefulness.

that no matter what 1 gained or acquired, there Gratefulness literally means to be full of

were alwavs others | envied. 1 became a gratitude. When your heart is full of arutiinde;

multimillionaire with a job that I loved and a R R

family that I adored, yet therc were times |

tound myself envying a high-school classmate

121. The word which is opposite in
who became a famous Director and billicnaire. i
meaning to ‘arrogance’ is :

Then one day I reread Solomon's words on :
(1} generosity

envy. He said envy was more destructive than

(2)  kindness
anger. It is impossible to be happy and envious

(3)  humility
at the same time. 1 either had to find a.way

(4) courtesy

to deal with my envy,or [ would never be
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124,

[ ;
2. In which ome of the following
gentences has the ‘question tag’ be
| en
correctly used 7

(1) The sceds of envy reside in every
heart, haven't they 7

(2) The seeds of envy reside in cvery
heart, didn"t they ?

(3) The seeds of envy reside in every
heart. aren’t they 7

(4) The seeds of envy reside in cvery

. Wi cannot prevent envious thoughts ...
“Voice’ in the above sentence has been
correctly changed in :

(1) Envious thoughts may not be
prevented by us.

(2) Envious thoughts cannot  be
prevented by us.

(3) Envious thoughts could not be
prevented by us.

(4) Envious. thoughts  are 0ol
prevented by us.

The secret of being comsistently happy

lies in :

(1) cullivating good habits.

(2) curbing one's desires.

(3) leadinga simple life.

(4) overcoming envy: -

ocdnnea py vdamoscdnner

(45)

125, Envy focuses our attention on what : .
(1) wu have.
(2y wedon't have.
{3) others have.
(4) others don’t have-

126 The statement, “The seeds of envy

reside in everyone's heart’ means that

envy ¢

(1) isuniversal.

(2) s gelf-destructive.

{3) robsusofour happiness.
(4) isadangerous emotion.

127. The antidote to envy is :

(1) gratefulness
(2} faithfulness
(3) love

(4) [freedom

128. The word ‘consistently’ most nearly

means :

(1y confidently
(2) firmly

(3 doubtlessly
(4) regularly



u
Directions :

g answer the questions that follow
(Q. Nos. 129-135) by sclecting the most
appropriate oplions

Read the passnpge given below

- £
8

My father was a lover of his clan,

but  shorn-
tempered. To a cenain extent he might have

truthiul, brave and gencrous,

been even piven to pleasures, But he was
tncorruptible, and had eamed a name for sirict
impartiality in his family az well as outside.
His loyalty to the stse was well known, A
Political Apent spoke insultingly of his chief,
and he stood up to the insult, The Agent was
angry and asked him o apologize. This he
refused to do and was therefore kept under
detention for a few hours. But when the Agent
saw that he was adamant, he ordered him to be
released.

My father never had any ambition to
accumulate riches, and lefi us wvery litile
property.

He had no education, save that of
experience. At best, he might be said to have
read up to the fifth standard, Of history and

geography he was innocent. But his rich
experience of practical affairs stood him in
good stead in the solution of the most intricate
questions and in managing hundreds of men,
Of religious training he had very little, but he
had that kind of religious culture which

frequent wvisits to temples and listening to
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relipious discourscs make available o0 many
Hindus. In his last days he began rending the

Gita at the

instance of a Jeamed Brahman

friend of the family, and he used 1o repeat

aloud some

worship.

verses everyday at the time of

129, The word ‘adamant’ most nearly

means
{1) appressive
(2) determined
(3) rupged
(4) angry
130. ‘His loyalty to the state was well
known.
‘Tense’ in the above sentence has been
correctly changed into ‘past perfect’
in:
(1) His loyalty 1o the state is well
known,
{(2) His loyalty to the state will have
been well known.
(3)  His loyalty to the state had been
well known.
(4)  His loyalty to the state has been
well known,
131. The word which is similar in meaning
to ‘learned’ is ;
(1) shrewd
(2) alen
(3) clever
(4)  scholarly
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132,

133.

134,

135,

-~ \
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The suthar praisey his father for hi
- -

(1} incormuptibility ang i'“i’-‘ﬂrliniily

and impartialigy,
(3 leaming and impnniﬂhly.

(4} patience apd

iﬁtnlmp[ibiji[}.‘

When the author’s father refused 1o

apologize to the Politicy) Agent he was :

(1)  beaten

{2} detained

(3} humiliated
{4y  heavily fined

Though uneducated, the author's

father could solve complex problems

because he had :

(1) ample experience of practical
affairs.

(2)  strong support of his patrons,

(3) a deep understanding of human
nature.

(4) acharismatic personality.

He acquired religious culture :

(1) by making donations.
(2) through the grace of spiritual
teachers.
(3)  through service to the poor.
(4) by listening (o sermons in
temples.
e

{47

L

DNirections : Answer the following questions
by selecting the most appropriate options :

136.

137.

138.

Which one of the following tasks in a
language classroom promotes a child’s

active participation ?

{1} children memorising the meanings
of difficult words from a test.

{2} children practising the correct
pronunciation of words in chorus,

(3) - children carefully writing down
the answers from the black-hoard.

{4) children working .ir1 proups  esd

preparing for a role play.

Error analysis should be carried out

by a language teacher to :

(1) scold studenmis for repeating the
mistakes again and again.

{2} inform parents that their wards are
not paying attention in the class.

{3}  find out the errors of leamers and
ask them to write cach emmor ten
Lirnes.

(4) gain  information on  common

difficultics of leamers in lanruage

learning.

In second language learning, children
reguire *‘comprehensible input® which

means moving from

(1) whole to part.
(2) part to whole.
(3} meaning io-structure.
(4)  structure to meaning.



141.

u
19, As o lanpuage teacher your most

Importand role is

(1 1w complele (e

preseribwed

fexthook in time,

(2) 1o get the sidents secure pood
marks,

(3)  tocomplete the syllabus in time,

(4) 1o develop the ability of children

Lo use [anguagee,

140. Langunge games are effective in

learning lanpguage because ;

(1)

they allow students to practise

lamruape skills.

(2)  active students will pasitively
participale in such activities.
(3)  they save time and energy of
leachers.
(4)  they are not very expensive.
A teacher of class V is motivating
students to read books other than the
pﬁ;rurihed textbook because she wants
to create interest in them for :
(1) writing stories and novels.
(2) reading to enhance their extensive
reading skill.
(3) different genres to enhance their
general knowledge.
(4) various authors to see them as

budding authors.
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14

143,

144,

P
anat cuitdren learn HNEHNES & 5
a {
clion to their parent’s
roachie

inforcements is suggested by whicy
rel L

ape development T

theory of langd

{1) Innat ist

(2) Constructivist
{3) Behaviourist
(4y Cognitive

In a comstructivist classroom language

learning would most importantly be

based on :

(1) detailed assessment of individug]
task.

{2) students’ pt‘ﬂ‘-'iﬂllﬁ-k]lﬂwlﬁdge_

{(3) careful teaching of the textbook.

{4) moving from simple to difficuly

grammar rules.

As per Official Language Act, 1963
which Article of Indian Constitution

gives English the status of Associate
Official language ?

(1) Article 345
(2} Article 347
(3)  Article 341
(4)  Article 343
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:'45_ Rajesh, a teacher

146.

147.

of class vy
organised an intra ¢lggs extempore

speech competition. Whigp, one of the

following  parameters |

important in assessing extempore 7

(1) Accuracy and fluency
(2) Coherence of ideas
(3) Confidence of g child

(4)  Personality of a child

The study of ‘chunks of language’
which are bigger than a stagle
sentence is :

(1) Discourse

(2) Morphology

(3) Syntax

(4) Semantics

Writing a personal response to a
literary text can be the most effective
way for learners to enhance their :

(1) reflective and analytical thinking.
(2) grades in the formative

assessment.

(3)  ability to write a story or novel.
(4)  understanding of the author’s life

sketch.

AV ICIRIRAVAY | U.’ A ASIERA A IRL A ] ]
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U
148, A teacher of class VII asks students to

write an article on *Pollution in our
Cities*, She ashed

brainstorm fdeas on pollution in cities,

students o

organise them, dreafi, edit and revise
their article hefore submitting it. She
is focussing on of writing.
(1) input approach
{2y  output approach
(3) product approach
(4)  process approach
149, Rubric in assessment is a
(17  record of students’ performance,
background and abilities,
{2) sort of leamning difficulty faced by
a child.
(3) set of fill in the blanks having
every 37" word as a blank.
(4) ser of puidelines for measuring
leamers’ achievements.
150. Which onc of the following is most

important in helping learners with

learning difficulties ?

{1) The teacher should provide home
tuitions to such leamers.
(2) The teacher should ignore such

learners.

(3) The teacher should give a lot of
correction work to be completed
at home by the leamers.

(4) The teacher should design various

learning  activities im a

meaningful/real life situation.
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